Multiply by Negative Powers of Ten (F)

Find each product.
5,976 X 1071 = 7,965 X 1072 =
7,717 X 1073 = 0,4053 x 107° =
6,391 x 107! = 2,13 x1073 =
0,516 X 107 = 5,5598 x 107! =
2,1571 x 1072 = 2,76 X 107% =
7,6 x 107! = 1,5214 x 107! =
3,73 x 1073 = 8,9404 x 107* =
1,879 x 1072 = 7,6937 x 1073 =
3,44 x 1073 = 1,9 x 1072 =
9,106 x 107 = 6,677 X 1071 =
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Multiply by Negative Powers of Ten (F) Answers

Find each product.

5,976 x 1071 =0,5976 7,965 x 107% = 0,07965
7,717 x 1073 =0,007717 0,4053 x 107° = 0,0004053
6,391 x 107 = 0,6391 2,13 x107°=0,00213
0,516 x 1073 =0,000516 5,5598 x 10~' = 0,55598
2,1571 x 1072 =0,021571 2,76 X 1072 =0,0276

7,6 Xx 1071 =0,76 1,5214 x 107t =0,15214
3,73 x 1073 = 0,00373 8,9404 x 10~ = 0,89404
1,879 x 107> =0,01879 7,6937 x 107* = 0,0076937
3,44 x 1073 = 0,00344 1,9 x107%=10,019

9,106 x 1073 = 0,009106 6,677 X 1071 = 0,6677
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